Converting Measures of Length and Time (M)


1 m
=
100 cm
1 hour
=
60 min

1 m
=
1000 mm
1 min
=
60 sec

1 km
=
1000 m
1 day
=
24 hours

1 mile
=
1609 m
1 average month
=
30.42 days

1 inch
=
25.4 mm
1 year
=
365.2422 days

Convert the following quantities, showing proper factor conversions:

Problems 1 and 2: Fill in the proper unit for the answer.


1.
5.89 m to cm
2.
1 day to s
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Problems 3-6: Fill in the proper number and unit for the answer.


3.
100 mm to cm
4.
1000. s to hours
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5.
2.67 cm to km
6.
24 min to hours
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Problems 7-10: Fill in missing part(s) of ratio(s), and the proper number and unit for the answer.


7.
20. mm to m
8.
1 s to hours
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9.
5.567.8 km to m
10.
1 year to s
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Problems 11-14: Convert from one unit to another. Fill in the ratio(s), and the proper number and unit for the answer.


11.
12 inches to m
12.
1 month to hours


13.
100. miles to m
14.
12.67 min to s

Conversion Worksheet

1 inch  =    2.54 cm





1 ft   =   12 in

1 mile  =    5280 ft





1 km  =  1000 m

1 m     =    100 cm

EXAMPLE 1:             254 cm ( ________ft
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Example 2:                90 mi/h ( _________ft/min
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Convert the following:

1. 90 mi/h ( __________m/s

2. 60 mi/h ( _________ ft/s

3. 30 m/h ( ________in/s 

_1093599867.unknown

_1093600045.unknown

_1093600208.unknown

_1282388970.unknown

_1282389157.unknown

_1093600162.unknown

_1093599937.unknown

_1093600002.unknown

_1093599898.unknown

_1093599561.unknown

_1093599802.unknown

_1093599445.unknown

